

https://africanjournalofbiomedicalresearch.com/index.php/AJBR Afr. J. Biomed. Res. Vol. 27(4s) (November 2024); 1351- 1359 Research Article

Using the Health Belief Model to Understand Anemia Preventive Behavior among Secondary School Female Students

Raad Kareem Faraj^{1*}

Assisst Prof. Dr University of Baghdad, College of Nursing, Community Health Nursing Department

*Corresponding Author : Raad Kareem Faraj *E-mail: dr.raad@conursing.uobaghdad.edu.iq

Abstract

Background: Anemia is one of the most important and most widespread public health topics in the world. Anemia has been negative effects on the health and heart Function and Activity of women and children in developing countries **Objectives:** This study aims to identify the study variables and the Health Belief Model components that can predict subjects' Self-Efficacy of adopting anemia preventive e behaviors and investigate the differences in the Health Belief Model components between the groups of father's education, mother's education, family's monthly income, and body mass index.

Methods: A descriptive predictive design was used to guide this study. The study included a simple random sample of 300 female secondary school students. The data were collected using a self-reported instrument related to the HBM.

Results: The study results revealed that the Perceived Susceptibility and age positively predicted more students' Self-Efficacy respectively. On the other hand, the Perceived Benefits, BMI, and Cues-to-Action inversely predicted more students' Self-Efficacy respectively. Consistently, there is a statistically significant difference in the Cues-to-Action among father's level of education groups. There are statistically significant differences in the Perceived Susceptibility, Perceived Severity, Perceived Benefits, Perceived Barriers, Cues-to-Action, and Self-Efficacy among mother's level of education groups.

Conclusion: The greater the Perceived Susceptibility, the greater the Self-Efficacy of adopting anemia-preventive behaviors.

Recommendations: Develop targeted educational programs that increase knowledge about anemia, particularly focusing on perceived susceptibility and severity. These programs should be tailored to address different educational levels of parents.

*Author for correspondence: E-mail: dr.raad@conursing.uobaghdad.edu.iq

Received: 01/11/2024

Acceptance: 08/11/2024

DOI: https://doi.org/10.53555/AJBR.v27i4S.3398

© 2024 The Author(s).

This article has been published under the terms of Creative Commons Attribution-Noncommercial 4.0 International License (CC BY-NC 4.0), which permits noncommercial unrestricted use, distribution, and reproduction in any medium, provided that the following statement is provided. "This article has been published in the African Journal of Biomedical Research"

Introduction:

Anemia is now a widespread public health problem that affects people in both developing and wealthy countries. Two billion people (40 percent or more than a third of the world's population) are estimated to suffer from anemia, with 19 million of them living in the Eastern Mediterranean region, according to the World Health Organization. Anemia is found in 10.3 percent of 15-59year-old women in industrialized countries and 42.3 percent of women in non-industrialized countries ⁽¹⁾. Anemia is one of the most important and widely discussed public health concerns in the world, and it affects nearly every country. Anemia has had a significant impact on the health of women and children in developing countries, to the point where more than 30 percent of the world's population is affected by the condition $^{(2)}$.

Illnesses that damage red blood cells, interfere with red blood cell formation, increase blood loss, and/or deplete nutrient uptake are some of the causes of anemia in pregnancy. These include malaria, hookworm, HIV, diarrhea, and other infections that can cause anemia in pregnancy ⁽³⁾.

Anemia, which is defined as a decrease in hemoglobin concentration, red-cell count, or packed-cell volume below recognized cut-off limits, is a frequently publicized public health concern that India is currently confronting, according to the World Health Organization ⁽⁴⁾. For non-pregnant women over the age of 15 years, anemia is defined as having a hemoglobin concentration of less than 120 g/L, and for pregnant women, a hemoglobin concentration less than 110 g/L. According to the World Health Organization (WHO), anemia among women is defined as having a hemoglobin concentration less than 110 g/L.

Iron deficiency is the most common cause of anemia, accounting for approximately 50 percent of all cases of anemia in the population. In pregnant women, iron deficiency anemia is associated with several negative consequences, including an increased risk of maternal mortality, preterm birth, low birth weight, infants with low iron stores, cognitive decline, decreased learning, and poor academic performance in school-age children ⁽⁶⁾.

Teenagers are particularly sensitive to malnutrition in impoverished nations, with adolescent girls being more vulnerable to the condition. Several studies have revealed that teenage anemia is the most common dietary condition found in underdeveloped nations. Adolescent females in India have a greater prevalence of anemia than in other developing countries, which appears to be higher when compared to the other developing countries ^(7,8).

Adolescents are defined as children and young people between the ages of 10 and 19 years old. There are about 1.2 billion teenagers in the globe, according to the United Nations. In low- and middle-income nations, adolescents constitute the overwhelming majority (90 percent). During the development surge of adolescence, it is possible to collect up to 37 percent of one's total bone mass. Despite the fact that nutrition has an impact on growth and development throughout infancy, childhood, and adolescence, data suggests that nutrient requirements, particularly for iron, are highest during the time of adolescents and young adulthood ⁽⁹⁾.

According to the World Health Organization (WHO), around 2.17 billion individuals worldwide are suffering from anemia at any given time. When hemoglobin concentrations are low, this is referred to as anemia in clinical terms ⁽¹⁰⁾.

Approximately two billion people, or approximately a quarter of the world's population, are believed to suffer from anemia, according to the World Health Organization (WHO). Anemia affects around 29.4 percent of women who are of reproductive age. South

Asian adolescent females were anemic in the majority of cases; for example, anemia was found in 70, 51.8, and 67.7 percent of adolescent girls in Bangladesh, India, and Nepal, respectively ^(11,12).

Anemia is prevalent among teenagers in underdeveloped nations at a rate of 27 percent, compared to 6 percent in developed countries. In Turkey, the prevalence ranges from 1.5 percent to 12.5 percent, depending on the province $^{(13)}$.

Health promotion is the practice of empowering people to take greater responsibility over their health and to improve their overall well-being. A wide range of social and environmental interventions are considered in addition to an increased emphasis on individual behavior. Developed on the hypothesis that preventive health behavior includes personal beliefs that are used to understand health behavior as well as possible reasons for non-compliance with recommended health actions, the Health Belief Model (HBM) can provide guidelines for program development by allowing planners to understand and address the reasons for non-compliance with recommended health actions ⁽¹⁴⁻¹⁵⁾.

From the 1950s to the present, the Health Belief Model (HBM) has been the most extensively utilized framework for health-related studies, and it has mostly focused on disease prevention and prevention-related behaviors. The following are the physical dimensions of HBM: The perception that a person may be suffering from a sickness or illness as a result of a particular action is referred to as perceived susceptibility. When it comes to perceived severity, people assume that the degree of their losses is the result of contracting an illness or suffering from a traumatic situation as a result of a certain activity. Perceived barriers, such as ideas about the expense of pursuing a new activity, are important considerations. ^(16,17)

HBM is effective in the prevention of anemia in adolescents because it can increase their perceived susceptibility and severity regarding anemia preventive behaviors. As a result, the girls perceive that they are susceptible to anemia and learn about the severity and complications that can result from not adopting preventive behaviors, HBM is effective in the prevention of anemia in adolescents. ^(18,19)

Materials and Methods:

Ethics

The researcher handed informed consent to the study subjects and explained them the study objectives. The researcher informed the subjects that the data taken from this study would for the scientific research purposes only and they would be securely maintained and safeguarded throughout the research processes and after publication. A descriptive study was conducted at the period from October 1st, 2021 to February 19st, 2022.

Setting: The study carried out at 6 secondary schools in Baghdad city from the 2 district Al-Karkh and Al-Rusafa.

Sampling: The study included a simple random sample of 300 female students who were selected from six secondary schools, 50 students from each school. Based

on a margin of error of 5%, a confidence level of 90%, a population size of 28.000, and a response distribution of 50%, the recommended sample size would be 271. The final sample size is 300.

Instruments: the study tool is a questionnaire composed from 2 parts. first part related to the socio demographic characteristics of the students (age, father level of education, mother level of education, & monthly income). The second part is the health belief model scale. It is included of 36 questions related to structures of HBM that was determined by five Likert scale from strongly agree to strongly disagree and included 6 questions about perceived susceptibility (with a minimum score of 6 and a maximum score of 30), 6 questions about perceived severity (with a minimum score of 6 and a maximum score of 30), 6 questions about perceived benefits (with a minimum score of 6 and a maximum score of 30), 6 questions about perceived barriers (with a minimum score of 6 and a maximum score of 30), 6 questions about cues to action with low to high range (with a minimum score of 6 and a maximum score of 30) and 6 questions about selfefficacy in the field of prevention from iron deficiency anemia (with a minimum score of 6 and a maximum score of 30), respectively.

Rating and scoring: The instrument rating by determined by five Likert scale from 5 points for strongly agree, 4 points for agree, 3 points for neutral, 2 points for disagree, and 1 point for strongly disagree.

Validity: The validity of the instrument done by content validity, content validity of the instrument was determined by panel of experts who have had more than 5 years of experience in their field in relation to explore the lucidity, relevancy, and adequacy of the questionnaire in order to accomplish the goals of the present study.

Reliability: The HBM scale demonstrated good to very good internal consistency reliability. The Cronbach's alpha coefficient of the Perceived Susceptibility is 0.79, the Perceived Severity is 0.75, the Perceived Benefits is 0.78, the Perceived Barriers is 0.86, the Cues-to-Action is 0.79, and the Self-Efficacy is 0.80.

Data analyses: Data were analyzed using the SPSS, version 26. The descriptive statistical measures of frequency and percent were used. The inferential statistical measures of stepwise regression and one-way analysis of variance were also used.

Results:

Variables	1.1 articipants sociodemographic en	Frequency	Percent
	11-13	64	21.3
4.00	14-16	98	32.7
Age	17-19	138	46
	Total	300	100
	Read and write	45	15.0
	Primary school	60	20.0
E-41 ? - 4 4:	Secondary school	68	22.7
Fathers education	Institute	65	21.7
	College	62	20.6
	Total	300	100.0
	Can read and write	31	10.3
	Primary	45	15.0
Mathens' advestige	Secondary	121	40.3
womers education	Institute	53	17.7
Age Fathers' education Mothers' education Monthly income BMI	College	50	16.7
	Total	300	100.0
	Not enough	74	24.6
Monthly income	Barely enough	176	58.7
Monuny income	Enough	50	16.7
	Total	300	100.0
	Underweight	32	10.6
	Normal weight	182	60.7
BMI	Overweight	44	14.7
	Obese	42	14.0
	Total	300	100.0

 Table 1. Participants' sociodemographic characteristics (N = 300)

The study results display that less than a half age 17-19years (n = 138; 46%), more than a fifth of fathers have secondary school education (n = 68; 22.7%), around two-fifth of mothers have secondary school education (n = 121; 40.3%), more than a half of families have barely enough (n = 176; 58.7%), and most have normal weight body mass index (n = 182; 60.7%). Using the Health Belief Model to Understand Anemia Preventive Behavior among Secondary School Female Students

		Unstanda	•	Standardized			95.0%	Confidence
Model		Coefficier	nts	Coefficients	Т	C:-	Interval for B	
MIC	dei	В	Std. Error	Beta	1	Sig.	Lower	Upper
		D	Std. Effor	Deta			Bound	Bound
	(Constant)	.767	.937		.818	.414	-1.078	2.611
	Age	.141	.029	.169	4.804	.000	.083	.199
	BMI	588	.092	278	-6.429	.000	768	408
1	Perceived Susceptibility	.407	.081	.463	5.017	.000	.247	.567
	Perceived Severity	.035	.071	.028	.497	.620	104	.174
	Benefits	093	.057	151	-1.638	.102	205	.019
	Barriers	.065	.056	.056	1.148	.252	046	.176
	Cues-to-Action	.465	.042	.426	10.981	.000	.382	.548
	(Constant)	.801	.933		.859	.391	-1.036	2.638
	Age	.145	.028	.173	5.099	.000	.089	.200
	BMI	581	.090	274	-6.446	.000	758	403
2	Perceived Susceptibility	.416	.079	.473	5.278	.000	.261	.572
	Benefits	085	.054	138	-1.563	.119	192	.022
	Barriers	.063	.056	.054	1.126	.261	047	.174
	Cues-to-Action	.472	.040	.432	11.777	.000	.393	.551
	(Constant)	1.251	.844		1.482	.139	410	2.912
	Age	.152	.028	.183	5.530	.000	.098	.206
	BMI	591	.090	280	-6.599	.000	768	415
3	Perceived Susceptibility	.464	.067	.527	6.958	.000	.333	.595
	Benefits	126	.040	205	-3.143	.002	205	047
	Cues-to-Action	.489	.037	.448	13.220	.000	.416	.562

Table 2. Stepwise regression for the study variables

a. Dependent Variable: Self-Efficacy

The study results reveal that the Perceived Susceptibility and age positively predicted more students' Self-Efficacy (p-value = .000, .000) respectively. On the other hand, the Perceived Benefits, BMI, and Cues-to-Action inversely predicted more students' Self-Efficacy (p-value = .002, .000, .002) respectively.

		• • • • • • • •				
ANOVA						
		Sum of Squares	df	Mean Square	F	Sig.
Danasianad	Between Groups	6.916	4	1.729	.416	.797
Perceived	Within Groups	1226 564	295	4 158		

Table 3. Difference in Health Belief Model components among father's level of education

		Sum of Squares	df	Mean Square	F	Sig.
Denneimed	Between Groups	6.916	4	1.729	.416	.797
Perceived Susceptibility	Within Groups	1226.564	295	4.158		
	Total	1233.480	299			
Demosional	Between Groups	3.255	4	.814	.394	.813
Perceived	Within Groups	609.332	295	2.066		
Severity	Total	612.587	299			
	Between Groups	12.782	4	3.195	.378	.825
Benefits	Within Groups	2496.498	295	8.463		
	Total	2509.280	299			
	Between Groups	18.269	4	4.567	1.968	.099
Barriers	Within Groups	684.478	295	2.320		
	Total	702.747	299			
	Between Groups	54.385	4	13.596	5.374	.000
Cues-to-Action	Within Groups	746.335	295	2.530		
	Total	800.720	299			
	Between Groups	8.916	4	2.229	.695	.596
Self-Efficacy	Within Groups	945.521	295	3.205		
	Total	954.437	299			

The study results display that there is a statistically significant difference in the Cues-to-Action among father's level of education groups (p-value = .000).

		Sum of Squares	df	Mean Square	F	Sig.
Perceived	Between Groups	186.489	4	46.622	13.136	.000
	Within Groups	1046.991	295	3.549		
Severity Benefits	Total	1233.480	299			
Perceived Severity	Between Groups	103.971	4	25.993	15.076	.000
	Within Groups	508.616	295	1.724		
	Total	612.587	299			
Benefits	Between Groups	538.561	4	134.640	20.155	.000
	Within Groups	1970.719	295	6.680		
	Total	2509.280	299			
	Between Groups	47.300	4	11.825	5.322	.000
Barriers	Within Groups	655.446	295	2.222		
	Total	702.747	299			
Create	Between Groups	63.023	4	15.756	6.301	.000
	Within Groups	737.697	295	2.501		
Action	Total	800.720	299			
	Between Groups	91.395	4	22.849	7.810	.000
Self-Efficacy	Within Groups	863.042	295	2.926		
	Total	954.437	299			

 Table 4. Difference in Health Belief Model components among mother's level of education

The study results reveal that there are statistically significant differences in the Perceived Susceptibility, Perceived Severity, Perceived Benefits, Perceived Barriers, Cues-to-Action, and Self-Efficacy among mother's level of education groups (p-value = .000, .000, .000, .000) respectively.

Table 5. Difference in the Health Belief Model co	omponents among monthly income groups
---	---------------------------------------

ANOVA						
		Sum of Squares	df	Mean Square	F	Sig.
Perceived Susceptibility	Between Groups	915.352	2	457.676	427.281	.000
	Within Groups	318.128	297	1.071		
Susceptionity	Total	1233.480	299			
Perceived Severity	Between Groups	415.745	2	207.872	313.643	.000
	Within Groups	196.842	297	.663		
	Total	612.587	299			
Benefits	Between Groups	2419.675	2	1209.837	4010.063	.000
	Within Groups	89.605	297	.302		
	Total	2509.280	299			
	Between Groups	147.739	2	73.869	39.530	.000
Barriers	Within Groups	555.008	297	1.869		
	Total	702.747	299			
0	Between Groups	329.667	2	164.834	103.928	.000
Cues-to-	Within Groups	471.053	297	1.586		
Action	Total	800.720	299			
	Between Groups	178.739	2	89.370	34.218	.000
Self-Efficacy	Within Groups	775.697	297	2.612		
•	Total	954.437	299			

The study results reveal that there are statistically significant differences in the Perceived Susceptibility, Perceived Severity, Perceived Benefits, Perceived Barriers, Cues-to-Action, and Self-Efficacy among monthly income groups (p-value = .000, .000, .000, .000, .000) respectively.

Table 6. Difference in the Health Belief Model components among body mass index groups

ANOVA						
		Sum of Squares	df	Mean Square	F	Sig.
Denseined	Between Groups	828.595	3	276.198	201.921	.000
Perceived	Within Groups	404.885	296	1.368		
Susceptibility	Total	1233.480	299			
Perceived	Between Groups	371.600	3	123.867	152.143	.000
Severity	Within Groups	240.987	296	.814		

	Total	612.587	299			
	Between Groups	1062.320	3	354.107	72.439	.000
Benefits	Within Groups	1446.960	296	4.888		
	Total	ps 1062.320 3 354.107 72.439 i 1446.960 296 4.888 2509.280 299 ps 148.766 3 49.589 26.496 i 553.980 296 1.872 200 ps 221.800 3 73.933 37.802 i 578.920 296 1.956 209 ps 521.584 3 173.861 118.892				
	Between Groups	148.766	3	49.589	26.496	.000
Cues-to-	Within Groups	553.980	296	1.872		
	Total	702.747	299			
Create to	Between Groups	221.800	3	73.933	37.802	.000
Benefits Barriers Cues-to- Action Self-Efficacy	Within Groups	578.920	296	1.956		
	Total	800.720	299			
	Between Groups	521.584	3	173.861	118.892	.000
Self-Efficacy	Within Groups	432.853	296	1.462		
Cues-to- Action	Total	954.437	299			

The study results reveal that there are statistically significant differences in the Perceived Susceptibility, Perceived Severity, Perceived Benefits, Perceived Barriers, Cues-to-Action,

and Self-Efficacy among BMI groups (p-value = .000, .000, .000, .000) respectively.

Further post hoc analysis demonstrated that subjects who are underweight have greater Perceived Susceptibility of developing anemia, perceive anemia as more severe, and face greater barriers to adopt anemiapreventive behaviors.

Subjects who are within normal weight-to-height proportion have greater Perceived Benefits of adopting anemia-preventive behaviors, Cues-to-Action, and Self-Efficacy.

Discussion:

The Perceived Susceptibility and age positively predicted more students' Self-Efficacy. respectively. This finding implies that girls wo perceive themselves as more susceptible to develop anemia deemed to be more confident to adopt anemia-preventive behaviors. In the same line, the older the girls, the greater the Self-Efficacy of adopting anemia-preventive behavior.

On the other hand, the Perceived Benefits, BMI, and Cues-to-Action inversely predicted more students' Self-Efficacy. This finding implies that subjects who perceive that the anemia-preventive behaviors are valuable would have greater confidence in themselves to adopt such behaviors. According to the HBM assumptions, individuals who have vested beliefs in the benefits of a given behavior would be more likely to engage in that behavior ⁽²⁰⁾.

Also, students who are within normal weight-to-height proportion perceive that the anemia-preventive behaviors are valuable would have greater confidence in themselves to adopt such behaviors. This finding could be explained as that students who are within normal weight-to-height proportion may believe that being so can impose greater likelihood of developing anemia. According to the local culture in Iraq, large number of people believe that being either overweight or obese implies sounder nutritional status which protect them from developing some health conditions including anemia.

Further post hoc analysis revealed that subjects whose fathers hold a bachelor's degree' have better Cues-t-Action than those of lower levels of education. Individuals with higher levels of education have greater likelihood of learning about healthy behaviors ⁽²¹⁾.

The study results reveal that there are statistically significant differences in the Perceived Susceptibility, Perceived Severity, Perceived Benefits, Perceived Barriers, Cues-to-Action,

and Self-Efficacy among mother's level of education groups. Further post hoc analysis demonstrated that subjects whose mothers are primary school graduates have greater Perceived Susceptibility of developing anemia, greater Perceived Severity of anemia, and greater Perceived Barriers to adopt anemia preventive behaviors. Education about health (i.e., health education) happens within schools and in many public health interventions; it is a central tool of public health (22).

On the other hand, subjects whose mother hold a bachelor's degree have greater Perceived Benefits of anemia preventive behaviors than those whose mothers of lower level of education, greater Cues-to-Action to adopt anemia preventive behaviors, and greater Self-Efficacy to adopt anemia preventive behaviors. Ross and Wu⁽²³⁾ argued that education is both a critical component of a person's health and a contributing cause of other elements of the person's concurrent and future health. Consistent with other definitions of health, a person who lacks basic elements of an education is not fully healthy.

There were statistically significant differences in the Perceived Susceptibility, Perceived Severity, Perceived Benefits, Perceived Barriers, Cues-to-Action, and Self-Efficacy among monthly income groups. Further post hoc analysis exhibited that subjects whose families have not enough monthly income have greater Perceived Susceptibility of developing anemia, greater Perceived Severity of anemia, and lower Perceived Benefits of adopting anemia-preventive behaviors. The evidence confirms that socioeconomic status (SES) influences peoples' health outcomes and the health care they receive ⁽²⁴⁾. People of lower SES are more likely to have worse self-reported health ⁽²⁵⁾, lower life expectancy ⁽²⁶⁾, and suffer from more chronic conditions ⁽²⁷⁾ when compared with those of higher SES.

On the other hand, subjects whose families have enough monthly income face lesser Perceived Barriers to adopt anemia-preventive behaviors, greater Cues-to-Action to adopt anemia-preventive behaviors, and Self-Efficacy to adopt anemia-preventive behaviors. This finding can be explained as that families whose socioeconomic status is poor cannot secure the healthy foods that help them in preventing anaemia.

Conclusions:

The researcher concludes the following:

- 1. The higher the level of father's education, the greater the Cues-to-Action the students enjoy.
- 2. The higher the level of mother's education, the lesser the Perceived Susceptibility of developing anemia.
- 3. The higher the level of mother's education, the greater the Perceived Benefits of adopting anemia-preventive behaviors, the greater Cues-to-Action of adopting anemia-preventive behaviors, and greater Self-Efficacy adopting anemia-preventive behaviors.
- 4. The greater the Perceived Susceptibility, the greater the Self-Efficacy of adopting anemia-preventive behaviors.
- 5. The lesser the Perceived Susceptibility of developing anemia and Perceived Severity of anemia, the greater the Perceived Benefits of adopting anemiapreventive behaviors.
- 6. The poorer the family's monthly income, the greater the Perceived Susceptibility of developing anemia and greater Perceived Severity of anemia.
- 7. The better the family's monthly income, the greater the Perceived Barriers to adopt anemia-preventive behaviors, greater Cues-to-Action, and greater Self-Efficacy of adopting anemia-preventive behaviors.
- 8. Subjects who are overweight perceive themselves as more susceptible to develop anemia, perceived anemia as more severe, and encounter greater Perceived Barriers to adopt anemia-preventive behaviors.

Subjects who are within normal weight-to-height proportion have greater Perceived Benefits of adopting anemia-preventive behaviors, have greater Cues-to-Action, and greater Self-Efficacy of adopting anemiapreventive behaviors.

Recommendations

- 1. Develop targeted educational programs in schools to raise awareness about anemia, its causes, and preventive measures, focusing particularly on the vulnerabilities of adolescent girls.
- 2. Implement strategies to enhance perceived susceptibility and severity of anemia among adolescents by sharing personal stories, testimonials, and statistical data.

3. Engage parents in educational sessions to improve their understanding of anemia and its impact on their children's health, emphasizing nutrition and dietary choices.

Limitations

The study involves a number of limitations including the potential effects of some variables and/or concepts that can interfere with anemia-preventive behaviors including the family dietary pattern, the family climate, and school cafeteria that this study did not consider.

Acknowledgement

First, I am grateful to Allah for all the opportunities, trials and strength that have been showered on me to finish writing the thesis.

My deep appreciation and profound thanks are extended to all experts for their cooperation and guidance in constructing the tool of the study.

My thanks are extended to the Schools and Teaching Hospital at Baghdad Governorate, and to all the Patients who participated in this study for their patience and cooperation during their interviews. my sincere appreciation to the library staff for their assistance this study.

Conflicts of Interest

Dear editor-in-chief

Date 4/ 11/ 2024

- The authors declare that have no conflict of interest in relation to the research presented in this manuscript entitled "[Using the Health Belief Model to Understand Anemia Preventive Behavior among Secondary School Female Students]".
- the authors declare that they have no financial interests or personal relationships that could potentially bias my research or influence my interpretation of the results.
- all authors have been listed in the manuscript and have approved the submission for publication.
- All authors declare that the research presented in this manuscript is original and has not been published previously or submitted for publication elsewhere.
- All authors agree to disclose any potential conflicts of interest that may arise during the review process.

Funding

There is no funding for this research, but it was self-reliance on me as a researcher

References

- Khani Jeihooni A, Hoshyar S, Afzali Harsini P, Rakhshani T. The effect of nutrition education based on PRECEDE model on iron deficiency anemia among female students. BMC Womens Health. 2021 Jun 24;21(1):256. doi: 10.1186/s12905-021-01394-2. PMID: 34167528; PMCID: PMC8223266.
- 2. Ghaderi, N, Ahmadpour, M, Saniee, N, Karimi, F, Ghaderi, C, Mirzaei, H. Effect of Education Based on the Health Belief Model (HBM) on Anemia Preventive Behaviors among Iranian Girl Students. *International Journal of Pediatrics*, 2017 5(6), 5043-5052.
- Abdel-Ati IEL, Sayed Sham E, Baraia Z, Magdy Sharaa H, & Ali N. Impact of health promotion directive based on Health Belief Model on pregnant women diagnosed with iron deficiency anemia. *World Journal of Nursing Sciences* 2019 5(3), 117-126
- 4. Rai RK, Fawzi WW, Barik A, Chowdhury A. The burden of iron-deficiency anaemia among women in India: how have iron and folic acid interventions

fared? WHO South East Asia J Public Health. 2018 Apr;7(1):18-23. doi: 10.4103/2224-3151.228423. PMID: 29582845.

- 5. Nutritional anaemias: Tools for effective prevention and control - WHO [Internet]. [cited 2022Aug29]. Available from https://apps.who.int/iris/bitstream/handle/10665/259 425/9789241513067-
- 6. eng.pdf?sequence=1
- 7. Miller JL. Iron deficiency anemia: a common and curable disease. Cold Spring Harb Perspect Med. 2013 1;3(7):a011866. Jul doi: 10.1101/cshperspect.a011866. PMID: 23613366; PMCID: PMC3685880.
- 8. Fathizadeh S, & Shojaeizadeh D, & Mahmoodi M, & Garmarodi G, & AMIRSARDARI M, & Azadbakht M, & Gheysvandy K. The impact of health education based on PRECEDE Model on knowledge, attitude and behavior of grade nine female students about iron deficiency anemia in Qazvin. Journal of Health and Hygiene 2016 7(3), 321-330.
- 9. Chandrakumari AS, Sinha P, Singaravelu S, Jaikumar S. Prevalence of Anemia Among Adolescent Girls in a Rural Area of Tamil Nadu, India. J Family Med Prim Care. 2019 Apr;8(4):1414-1417. doi: 10.4103/jfmpc.jfmpc_140_19. PMID: 31143731; PMCID: PMC6510068.
- 10. Fentie K, Wakayo T, Gizaw G. Prevalence of Anemia and Associated Factors among Secondary School Adolescent Girls in Jimma Town, Oromia Regional State, Southwest Ethiopia. Anemia. 2020 Sep 22;2020:5043646. doi: 10.1155/2020/5043646. PMID: 33029396; PMCID: PMC7528150.
- 11. Baharzadeh K, Marashi T, Saki A, Zare Javid A, Araban M. Using of health belief model to promote preventive behaviors against iron deficiency anemia among pregnant women. J Research Health. 2017, 7 :754-762 (2) URL: http://jrh.gmu.ac.ir/article-1-873-en.html
- 12. Araban M, Baharzadeh K, Karimy M. Nutrition modification aimed at enhancing dietary iron and folic acid intake: an application of health belief model in practice. Eur J Public Health. 2017 Apr 1;27(2):287-292. doi: 10.1093/eurpub/ckw238. Erratum in: Eur J Public Health. 2017 Jun 1;27(3):582. PMID: 28057694.
- 13. Gonete A, Tariku A, Wami SD, & Derso T. Prevalence and associated factors of anemia among adolescent girls attending high schools in Dembia District, Northwest Ethiopia, 2017. Archives of Public Health = Archives Belges de Sante Publique, 2018, 76, 79.
- 14. Işık Balcı Y, Karabulut A, Gürses D, Ethem Çövüt I. Prevalence and Risk Factors of Anemia among Adolescents in Denizli, Turkey. Iran J Pediatr. 2012 Mar;22(1):77-81. PMID: 23056863; PMCID: PMC3448219.
- 15. Ford ND, Bichha RP, Parajuli KR, Paudyal N, Joshi N, Whitehead RD Jr, Chitekwe S, Mei Z, Flores-Ayala R, Adhikari DP, Rijal S, Jefferds ME. Factors associated with anaemia among adolescent boys and girls 10-19 years old in Nepal. Matern Child Nutr. 2022 Jan;18 Suppl 1(Suppl 1):e13013. doi:

10.1111/mcn.13013. Epub 2020 Apr 27. PMID: 32338438; PMCID: PMC8770652.

- 16. Alquaiz AJ, Khoja TA, Alsharif A, Kazi A, Mohamed AG, Al Mane H, Aldiris A, Shaikh SA. Prevalence and correlates of anaemia in adolescents in Riyadh city, Kingdom of Saudi Arabia. Public Health Nutr. 2015 Dec;18(17):3192-200. doi: 10.1017/S1368980015001214. Epub 2015 May 4. PMID: 25936397.
- 17. Auerbach M, Abernathy J, Juul S, Short V, & Derman R. Prevalence of iron deficiency in first trimester, nonanemic pregnant women. The Journal of Maternal-Fetal & Neonatal Medicine 2021 34(6), 1002-1005.
- 18. Majeed T. and Allans J. Establishing Absolute Iron Deficiency Anaemia before Referring Patients to Colorectal Fast Track Clinics Can Help to Increase the Diagnostic Yield of the Bowel Cancer Screening Programme. European Journal of Surgical Oncology, 2019 45(11), p.2199.
- 19. Msengi IG. Development and Evaluation of Innovative Recycling Intervention Program Using the Health Belief Model (HBM). Open Journal of Preventive Medicine 2019.
- 20. Larijani NM, khorsandi M, Shamsi M, Ranjbaran M. The effect of maternal education on preventive behaviors of iron deficiency anemia in children: A randomized controlled trial. Research Square 2020. DOI: https://doi.org/10.21203/rs.3.rs-21420/v1
- 21. DiClemente RJ, Salazar LF, & Crosby RA. Health behavior theory for public health: Principles, foundations, and applications 2019 (Second ed.). Jones & Bartlett Learning.
- 22. Goldman DP, Smith JP. Can patient selfmanagement help explain the SES health gradient? Proc Natl Acad Sci U S A. 2002 Aug 6;99(16):10929-34. doi: 10.1073/pnas.162086599. Epub 2002 Jul 24. PMID: 12140364; PMCID: PMC125075.
- 23. Peters LW, Kok G, Ten Dam GT, Buijs GJ, Paulussen TG. Effective elements of school health promotion across behavioral domains: a systematic review of reviews. BMC Public Health. 2009 Jun 12;9:182. doi: 10.1186/1471-2458-9-182. PMID: 19523195; PMCID: PMC2702385.
- 24. Larijani NM, Khorsandi M, Shamsi M, & Ranjbaran M. The effect of maternal education on preventive behaviors of iron deficiency anemia in children: A randomized controlled trial. Research Square 2020. DOI: https://doi.org/10.21203/rs.3.rs-21420/v1
- 25. Asch SM, Kerr EA, Keesey J, Adams JL, Setodji CM, Malik S, McGlynn EA. Who is at greatest risk for receiving poor-quality health care? N Engl J Med. 2006 Mar 16;354(11):1147-56. doi: 10.1056/NEJMsa044464. PMID: 16540615.
- 26. Signorello LB, Cohen SS, Williams DR, Munro HM, Hargreaves MK, Blot WJ. Socioeconomic status, race, and mortality: a prospective cohort study. Am J Public Health. 2014 Dec;104(12):e98-e107. doi: 10.2105/AJPH.2014.302156. Epub 2014 Oct 16. PMID: 25322291; PMCID: PMC4232159.
- 27. Begley C, Basu R, Lairson D, Reynolds T, Dubinsky S, Newmark M, Barnwell F, Hauser A, Hesdorffer Raad Kareem Faraj

D. Socioeconomic status, health care use, and outcomes: Persistence of disparities over time. Epilepsia. 2011 May;52(5):957-64. doi: 10.1111/j.1528-1167.2010.02968.x. Epub 2011 Feb 14. PMID: 21320113.

28. Luepker RV, Rosamond WD, Murphy R, Sprafka JM, Folsom AR, McGovern PG, Blackburn H. Socioeconomic status and coronary heart disease risk factor trends. The Minnesota Heart Survey. Circulation. 1993 Nov;88(5 Pt 1):2172-9. doi: 10.1161/01.cir.88.5.2172. PMID: 8222112.